EXGI’C]SES Answers to selected odd- numbered problems
begin on page ANS-7.

| lems 1-6, find the indicated fuﬁction values.

) =2 — 1, F(=5),/(=V3),£(3), and £(6)
L) = =22 + % f(=5), f(—1),£(2), and £(7)
35@) = VAT T f(=1),£(0),£(3), and £(5)

: 4. f(x) = V2x + 4. f(=2).1(3).7(3), and f(4) Lo
i 5. 1£/(x) =T3f? F(=1),£(0), £(1), and f(V/2)

;| 6 Iffgx)=%; F(=V2),£(=1), f(0), and £(3)

In Problems 7 and 8, find

5| F().£(2a), £(a%), f(=5%), f(2a + 1), and f(x + h)

1 for the given function f and simplify as much as possible.

I T.£C) = =2( P +3( ) 8.£( ) =A P —2( *+20

L 9. For what values of xis f(x) = 6x> — 1 equal to 23?
10. For what values of xis f(x) = Vx — 4 equal to 4?7

q | E ; In Problems 1120, find the domain of the given function f.
i‘; 11. f(x) = \/41;%——2 12. f(x) = \/1’;——5;:
o i 1. f() = 1. ) = s
i 15. f(x) = %};’—) 16. f(x) = xz—if
| 0.0 T 1850 = 52
19. f(x) = ﬁﬁ 20. f(x) = xz—fi_x—g—T

In Problems 21-26, use the sigﬁ-chart method to find the domain of the given func-

tion f.

21. f(x) = V25 — 2
23. f(x) = V2 — 5x
x

25, f(x) = /x

w

In Problems 27-30, determine whether the graph in the figure is the graph of 2

function.

27. y
x

FIGURE 3.1.8 Graph for
Problem 27
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22. f(x) = Vx(4 — x)
24. f(x) =V — 3x— 10
26. F(x) = /> = =

28. y

x

FIGURE 3.1.10 Graph for
Problem 28

—
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30. y

x

FIGURE 3.1.11 Graph for .
{ _ Problem 29 FIGURE 3.1.12 Graph for
B Problem 30
i |
8 In Problems 31-34, use the graph of the function f given in the figure to find its domain
“F  andrange.
i 31- Yy 32' 2,;_—
i 2
F x
5 A 1
X x —

FIGURE 3.1.13 Graph for

Problem 31

FIGURE 3.1.14 Graph for
Problem 32
33. y . 34. (}

] i | ——
- > W,

FIGURE 3.1.15. Graph for

Problem 33 u

FIGURE 3.1.16 Graph for
Problem 34

InProblems 35-42, find the zeros of the given function f.

B.fx) =5x+6 . 36. f(x) = —2x + 9

3. fx) =2 — 5x + 6 38. f(x) =2 — 2x — 1

. f() = xG3x — D(x + 9) 40. f(x) = X — 2 — 2x
W fx) = x4 — 1 42. f(x) =2 — V4 -2

EP ff)blems 43-50, find the x- and y-intercepts, if any, of the graph of the given
Nction f. Do not graph.

Brw=te-4 44. fx) =5 —6x+5

TR T SR

sk

. fx) =4x(2x~_2)2_1 46. f(x) = (%x—3§(x2+ 8x + 16)

47, ¢ _ xt 4 _ wx+ 1)z — 6)
A v & 1) =

Bfo =3va—2 50. f(x) = 3V2 — 22— 3
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In Problems 51 and 52, find two functionsy = fi(x) andy = f2(x) defined by the givey
equation. Find the domain of the functions fi and f;. v

51. x=9*—5 52. 2% — 4y* =16

In Problems 53 and 54, use the graph of the function f given in the figure to estimate the
values off(—3),f(—2),f(—1),f(1),f(2), and f(3). Estimate the y-intercept.

53. \ y 54. y
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FIGURE 3.1.17 Graph for Problem 53 FIGURE 3.1.18 Graph for Problem 54

Tn Problems 55 and 56, use the graph of the function fgivenin the figure to estimate the

. values off(—2),f(—1.5),f(0.5),f(1),f(2), and £(3.2). Estimate the x-infercepts.

55. 56.
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FIGURE 3.1.19 Graph for Problem 55 FIGURE 3.1.20 Graph for Problem 56 ’

57. Factorial Function In your study of mathematics some of the functions that
you will encounter have as their domain the set of positive integers n. The facto-
rial function f(n) = n!is defined as the product of the firstn positive integers,

that is, " .
f(n)=nl=1-2~3'--(n—1)'n. | S
(a) Evaluate £(2),f(3),f(5),and f(7). 3

(b) Show thatf(n + 1) = f(n) - (n + 1).
(¢) Simplify f(n + 2)/f(n).

Fl(

58. A Sum Function Another function of a positive integer n gives the sum of the ki
first n squared positive integers:
a
1
S(n) =gn(n+ N@2n+ 1) = 124224 - +n% Y-i
fui
(a) Find the value of the sum 12 + 22 + - - - + 99* + 100% the
(b) Find n such that300 < S(n) < 400. [Hint: Use a calculator.] Prq
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